N = 0 &8 AF S 9 Al A
20228 = 20l A L BEFSIH M A
SN HRT SIXED
B F0i0E 22y
ool gHUEXE PH2Y N CERED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
HEAP HEX R 18,277,987 18,204,493 73,494
FUOE RH2 A 2,126,829 1,778,523 348,306
gedie FE2Y N 158,619 148,575 10,044
24E #HAIERN 2 X 84,068 80,530 3,538
201 Yot Y| 42,512 42,250 262
01 At 22l ] 14,760 10,618 4,142
OHFEE L 2d8H 1,500& = 4000H 600
OAE L Ad2H HOA 5,500& = 4004 2,200
Ofd3 &Y 100,000& + 59 = 103 5,000
OLZTHA EE2 S48 70,000& * 203 1,400
OFHIAAEZE I =H| 1,360
o282 120,000 * 4% * 23| 960
ogst=s 100,000& * 49 400
OXNY TE -FBNE LdAE 1,000
OSE2AAHES) 1,000
=J|& 300,000& * 1Y€ = 23| 600
-z 200,000 = 1¥ = 23 400
OYEZ 29 Z&H XA
8,000& =* 40¥ * 103 3,200
02 53294l 27,752 31,632 N 3,880
@V E==FS e == 60,000& * 430 25,800
OHA™AMNRPEH KU 1,952
ONE= A 15,000,000& * 1CH * 8% 1,200
OLE= A 3,200,000& * 2CH * 8% 512
O2MA D] 1,000,000& * 300 = 8% 240
203 1R E= A Y| 10,000 10,000 0
03 Al =X H R =X Y| 10,000 10,000 0
OYHOAAMNA L dHHILR FA
10,000,000& 10,000
206 TH 2 HI 12,261 9,376 2,885
01 X2 Hl 12,261 9,376 2,885
o= JtzJ uH 12,261
OJt27] 5,000& = 1,4250H4 7,125
OJIZ2Il ME(2xE) 8,000& = 5704 4,560
OH=2] S(EAANLUE)
24 ,000& * 45 = 604 576
301 dBEtEX = 1,920 1,920 0
09 #HAIAHIXI &2 1,920 1,920 0
OFHIAF OISEEYS &
10,000& * 169 * 63 960




- _ _ RE]
N X8-S (3H) - MEAY - B %Eﬁ HR=2
PEEEET I EEEEEREE
10,000&  16Y = 63| 960
307 2iz2to| & 17,375 16,984 391
05 QIZtR &2 17,375 16,984 391
O=2a3Y JI2J| HY ¥ &HHA
4,343,750& * 43| 17,375
N =M= S 38,777 32,271 6,506
201 et 9| 26,397 20,271 6,126
01 AFR 2t 2| H| 26,397 20,271 6,126
OXXSSS TN 29 LAIxE
300,000& * 42 & ~ 12& 14,400
OFUAY SA=MY DIl MHeldl s
250,000&  12& 3,000
OFUAY HAZ MHTLY 250,000 ~ 128 3,000
OFUAY d=D] LdX=
49,7008 ~ 104 ~ 12& 597
oxUAYE =25 2 5,400
Oalm 8,800 * 250H 2,200
O=U& 2,400 * 25004 600
OJ|E} XRel&ER S 2,599,500 2,600
303 ZA& 2 6,000 6,000 0
01 LAZ2 6,000 6,000 0
024, H% HARNZPY HE
100,000& * 10¥ * 63 6,000
401 A& HI L 204 HI 4,380 0 4,380
01 A& H| 4,380 0 4,380
OFUWAIY AlZ(HEH, EIY S) EHl Z2AH
4,380,000 4,380
405 XHA&HF S HI 2,000 6,000 A 4,000
01 XML 22 FF S| 2,000 6,000 A 4,000
oMEHHA S5 2¢ 2,000
O ==l 2,000,000& = 1CH 2,000
[OI AFSI S A THA X & 35,774 35,774 0
307 QI2t0| ™ 35,774 35,774 0
02 QI2tAAMAIE E =X 35,774 35,774 0
OsSHYHES MOUOSXNEXE2S AFSEAA
1,164,000 * 84 A 9,312
Os4HsS MOIS22UE AMYXEH
1,164,000 * 84 A 9,312
OSHS HIZHAIIAJSE AISE XA
1,319,200 * 81 A 10,554
OSt=XRsdHY SHSE3 MY
582,000 * 30 A 1,746




SA: B #FNA
M Foox 1¥ed
ool #EEXE PE2Y X (ol 2)
SA-ZH A EA) - MFAY - BES Off &k o4 %Eﬁ Hin&E2
OHT SUSAHE NUASAH AL
4,850,0002 * 17§ £ 4,850
AEES|ANL JIs2Y 250,655 229,483 21,172
HAIPHOROY 2 250,655 229,483 21,172
201 gere gy 100 150 A50
02 3324t 100 150 A50
OORIOIS0IA & Hia M 282
100,0008 * 13| 100
307 2I2t01 & 245,538 229,333 16,205
10 MBI ST A SHE2HH B 245,538 229,333 16,205
OFHO20IY SH 2x 245,537,920 245,538
401 NI EHI L2 THYI 5,017 0 5,017
01 Al &t 5,017 0 5,017
OO0lRI0lE ES#AAL Ha 5,017
Ostza Ng2s 2,585,000 2,585
oznm A 2.,432,0008 2.432
TEIE 2, S0, 2AN A2 83,659 40,980 42,679
TEY =8 £ 38,640 14,072 24,568
201 e gy 13,260 8,322 4,938
01 At 22l 13,260 8,322 4,938
OAE PHLREDN |0 11,500
O™J YREDA 10,0008 * 502 * 23] 1,000
O#Al 422EDA 10,0008 * 508 * 23] 1,000
OFQY? AHEA
10,0008 * 1008 * 13 1,000
OANEHE AN 10,0008 * 1008 * 23] 2,000
Oolsl #I AR A
15,0008 * 3008 * 13 4,500
OClg 8 PHE A
10,0008 * 505 * 23 1,000
OLLHEAN 10,0008 * 100% * 13 1,000
OPE Y23 L9 HH
70,0002 * 83| 560
OLUS AN 42 482 1,200
Oelx o 250,0002! * 43| 1,000
Osgz 50,0008 * 43| 200
202 01 4,800 4,750 50
01 ZLHOd tl 4,800 4,750 50
OPHYLEZ 0/t 20,0008 * 10Y * 24Y 4,800
401 NI EHIZL 2T 15,000 0 15,000
01 Al&HI 15,000 0 15,000




2M: BRT o
[u}

PSR!
Hu: FooE nHed
el REIIE B SN AA A2 CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OSIH (HAEXZA) AL 2 A 15,000
OZ2AHH] 15,000,000& 15,000
405 X+H&HF SHI 5,580 1,000 4,580
01 A&t =S F SHI 4,580 0 4,580
O (HAXNZA) &= 4,580
O3glos Holg 840,000& = 24 1,680
O3 s oKt 188,000& * 1204 2,256
O=0lx& 2 Xt 161,000& * 44 644
02 & M7 Hl 1,000 1,000 0
OSJH (M2 A) TP
12,500 = 80 1,000
&5 SHZA 4,833 4,985 N 152
101 @121l 4,833 4,985 N 152
04 J|2tH 22 NHEE 4,833 4,985 N 152
OSHZAN SREX 22 4,707
OZLHEY 78,420 * 1H x 20 1,569
O AP Xl 2= Ab 78,4203 + 198 « 20 1,569
OAFE] = A} 78,420 * 1H x 20 1,569
O4EE JIA22E2 126
(@ME=1-4=-! 4,707,000& * 1.65% 78
OMEE 4,707,000& * 1.00% 48
AlBI EHote REEE 40,186 21,923 18,263
201 LEt2 A Y| 22,916 20,923 1,993
01 AFR2t2l bl 21,916 20,923 993
o8 JIgEsE ¥ g2 1,600
Ooosz 5,000& = 3000H 1,500
O AF&I B Xt 10,000& = 109H 100
OHFAMNE MNEFR=Z 17,316
Os L 20,000& * QAL » 38 * 12& 6,480
ORI &I 13,000& * QAL x 78 x 12& 9,828
O=F2+X] 7,000& * 4 AF x 38 x 12& 1,008
o8 22 H&E 10,000& * 3005 3,000
02 3524l 1,000 0 1,000
OtHd A2 2= 50,000& = 204 1,000
401 AIEHIL 20| 17,270 1,000 16,270
01 A& bl 17,270 1,000 16,270
O3 2332t ZE3A 17,270,000& 17,270
S HAEE XM 656,861 652,402 4,459
MREt HA S22l 508,791 517,355 N 8,564
201 LEt2 A Y| 425,589 400,789 24,800
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SN e
X ZH - o|
L= B —

y

SRl TS BAF

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OJIH & A& E 3l 123,000 * 13| 123
O&EIIJI&sE3altl 200,000& = 13l 200
OAEZHI S X 106,597
O&FA 22 4,288& =+ 15,710m’ 67,365
O&FAF JIHEH =X
194,812& = 503 » 29H 19,482
OF A &I1&Hl |
246,868& * 403 » 2H 19,750
OFEM ANES FHIIHLBBANEE) ===
5,700,000& = 23| 11,400
O&A =& &e2ldl 2,400 = 2,670m * 33| 19,224
206 M= Hl 33,202 31,566 1,636
01 =8l 33,202 31,566 1,636
OFAZES 25,506
OBEE =& s 53
200,000 = 5& = 12& 12,000
oMl SHM=F
2,1702 = 15004 = 12& 3,906
OFEAN HALEE(HMHM S 63)
5,000& * 202 = 12& 1,200
OSHEEt= 35,000& * 2000 = 12& 8,400
OFALZte| 214 L H HEAIE U (EE S
218) 50,000& = 58 ~ 12& 3,000
OUAE ASUHE 44,0002 * 2404 1,056
OQ&EA HI|, 2YAE 223 3,360
OtFII 8 78 40,0008 * 78 * 123 3,360
OgdIl RFHI 1,397& » 2004 280
401 Al HI K 201 I 50,000 85,000 /35,000
01 A& HI 50,000 85,000 /35,000
OFA XlotEs &AH EH S M 21,000,000& 21,000
OJIAHEH 8s8& 9 29,000,000& » 13 29,000
ZEtst YR HMel 148,070 135,047 13,023
201 Let24d] 119,570 131,484 A 11,914
01 At 22l 8,250 7,839 411
OYE(ZE,8M) =g =22
20,000& = 100A 2,000
O=EE AU ZdH==2
250,000& = 290 AL * 53 2,500
ONATMBE B2 U AA 3,750
O23ac e s 2704 = 5,00004 1,350
OHtzd HEE 50,000& » 5& 250
OXzs2d MREE(EHN S 118)
50,000& = 123 600
OXNENME Us BEI 25 1,550




SN HRT SIXED
Hu: FooE nHed
el MEE BABY Z4 (el @2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2

-3 Al 70,000& * 102+ A 700
-cg 170,000& * 5MIE 850

02 3524l 111,320 123,645 N 12,325
OXs X 2el 19,320
OXUEE L SEL2E 13,120
-8 H2E 350,000& * 3CH 1,050
-S8i =8 460,000& = 3CH 1,380
-8 UE 600,000& * 1CH 600
-3I2X 2~ 660,000& * 9CH 5,940
-3t =€ 720,000& * 1CH 720
-SIEX W 820,000& * 2CH 1,640
-SEx =58 470,000& = 2CH 940
-SEx E 850,000& * 1CH 850
OXNSIHA () 2,485
-8 H2E 75,000& * 304 * 13 225
-S52i 58 250,000 = 3CH * 13 750
-SSX UE 400,000& * 1CH = 13 400
-3I2X 4~ ¥ 55,000& * QU4 * 13 495
-2t =€ 55,000& * 100 = 13 55
-SIEX W 120,000 = 204 = 13| 240
-S8 =€ 100,000& * 20H = 13 200
-SEx E 120,000 * 1CH = 13 120
OstdMNEREE =2 1,405
-SIEX A E 50,000& * 9Ui * 13 450
-St=xt =& 90,000& * 104 = 13 90
-SI2X e 180,000& * 204 = 13 360
-S&8x =¥ 150,000& = 204 = 13| 300
-SEX UE 205,000 = 1CH = 13 205
OdIZEA =5 27,000& = 2201 = 23| 1,188
OZEZEA =2 51,000& * 22CH = 13 1,122
O xt& = Xl dl 92,000
[OFSPIPN; 1,500,000& = 204 3,000
o4& xt 2,700,000& * 3CH 8,100
[OFESE=PN; 4,900,000& * 2CH 9,800
OsExt 6,500,000& * 3CH 19,500
Ost= Xt 4,300,000& * 12CH 51,600

202 (4 d] 3,500 3,563 A B3

01 2L Y| 3,500 3,563 A B3
OAF AIEFA XX ol 3,500
o=2 30,000& + 58 =« 143 2,100
OzZ LY 10,000& * 5% * 283 1,400




2N BED BINAD
B F0i0E 22y
el MEE BABY Z4 (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
405 XHoHF S HI 25,000 0 25,000
01 AL ESFH S 25,000 0 25,000
oxExE 2 25,000
OsSEZH(2¥) 25,000,000& =« 1CH 25,000
23 Jgtxzd & 28 X 977,035 707,083 269,952
A0 HHFB3 2F 333,322 296,614 36,708
201 Let24d] 195,502 187,694 7,808
01 At 2teltl 45,050 40,050 5,000
OF& AZEAN P2¥ 40,850
Otz Il A 280,000& * 502 14,000
OMS2 Il & 490,000& = 50= 24,500
OJIet RECIE 2ZEAN
47,0003 = 50= 2,350
oy HH2RE ES o]
70,0003 = 1004 » 63 4,200
02 =224l 150,452 147,644 2,808
OdAMZEH L ALAE SANES 113,892
OFF 2 SHsS 428 FFHGBITH)
3,633,000& * 12& 43,596
O7& % SHE ARE DI (2310)
850,000&  12& 10,200
O7E 2 SHE 2ALIZI|(190H)
4,079,000& = 12& 48,948
OsHs SEUALSII(15M)
749,000 » 12& 8,988
OUEHIZS Al =)
34,000& « 12& 408
Ogodg sedLsT]
146,000& * 12& 1,752
O+& & S8s EHOX RXNE+
1,200,000& * 128 14,400
OBUAZERN RXGI(2toldA 7el) 22,160
OPCE 84l T2 28,000& * 5002 14,000
OMHE WA 220" 440,000& = 4= 1,760
OLUPCKIZ1 0| 30,000& * 1002 3,000
OMeEE 25 T2 08 (PCE)
34,000& » 1002 3,400
405 XHoHF S HI 137,820 61,620 76,200
01 et ESFH S 137,820 61,620 76,200
O=d ¥ SHES AE=SXUE HIHAMSEH
23 137,820
Ol sz =H 1,400,000 = 3604 50,400
ODBHMEEEH) 600,000& = 30CH 18,000
OS2z 24,000,000& * 2CH 48,000




SH BT HIXAD
Hu: FooE nHed
& 23 Jigtxd 2 28 & (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Osgags2l 7,960,000  2CH 15,920
OFUSEZRE FHIIDI
550,000& * 10CH 5,500
FEBSH JIEAE 29 643,713 410,469 233,244
201 L2l 303,433 288,469 14,964
01 At 22l 1,000 950 50
OMBTAA ZTEH DF++8
200,000& =« 5CH 1,000
02 2324l 302,433 287,519 14,914
OSMNTRIH ARE 105,960
ORNFLEL JI=2356 AIBE 90,000
-7 <> 5,88
700,0008 * 93] & * 12 75,600
L=
150,000& » 83| » 12& 14,400
OHHFMSE AL H(INFESH W)
700,000& = 13l& = 128 8,400
O=3UdEE3E MER 7,560
-7 <> 5.8, 08
30,000& = 213/ & = 12& 7,560
OHFMI(AHUAES) MHEZ
4,000,000& = 12& 48,000
ogBdst AAEZE 7,000 = 334 * 128 252
OFLYS U (HSHA)
20,000& = 1314 = 128 240
OCQIHUWILH/2HILCIHUY S H ABE
30,000& = 183l » 12& 6,480
OZESHFEH S 141,501
ONEEESAEH 5,503,750& = 12& 66,045
OHFE3 W E A AE 2,215,000& * 12& 26,580
og=2gs)l 132,000& » 12&8 1,584
ORYAEMAZ X (UPS) 244 ,000& » 12& 2,928
OAMNESEAA SEEHI 200,000& = 12& 2,400
OFEAN $&EY| 1,716,700& * 128 20,601
OFE/SHS BMLSE CCTVAIAE
1,294,200& * 128 15,531
O=sH/SatHBSAAE  366,0008 » 128 4,392
OHFHUJAFRE HA 120,000& * 12& 1,440
206 M= Hl 5,000 5,000 0
01 =8l 5,000 5,000 0
OZFESHANE A2XH 5,000
OouTPAIOlE S 105 2,500,000& = 23| 5,000
401 Al HI L 2T 23,500 111,000 £87,500
01 A& HI 23,500 111,000 A 87,500




2AN: A7 HEX D
Hu: FooE nHed
Sl MEs JIUES o 28 X SREED
H-H2 - B9 (3H) - HEAY - BA=S dE = HRE2
0Ofl &F 08
078 2 s0is FUsddE 20
5,000,000& = 23| 10,000
OSHSHAEXNHEH RPEEEIFEX WA
4,500,000& * 3JH 24 13,500
405 Ko SHI 311,780 6,000 305,780
01 XA 2 FF S| 311,780 6,000 305,780
O, SHS ANYIEBESAEY WA 309,980
QY2 AAX 128,800,000& * 2CH 257,600
OUSSEH(SBHS) 4,320,000 = 9CH 38,880
oAz (#dade) 4,500,000& = 3CH 13,500
oOoHXMARE |PTAEZD] 600,000 304 1,800
A&s 23 -H=E 2E 27,196 26,726 470
&M 23 - Hs 29 27,196 26,726 470
et RES2dEHg 4 11,276 10,806 470
201 et | 11,276 10,806 470
01 AP 22| H| 11,276 10,806 470
O, HY HEd CHUHEX, EE22 MZE
6,000 * 4758 2,850
OLHHSHAX WEUA 2HEHLH
120,000& * 1H 120
OSYHINAUI £ NUUXIZ(BEEH)
660,000& * 63| 3,960
O=2ZKMAa HE= 500,000 * 13| 500
O3TANES(RSAIE) oHH =42
383,000% * 2% * 13| 766
OMSAE AHNMEH =2 3,080
OHA=EZ0F 383,000 * 22 * 23] 1,532
OAg 20t 387,000€ * 22 x 23| 1,548
UM AIAE 22 15,920 15,920 0
201 et 6,420 420 6,000
02 B32%H| 6,420 420 6,000
OESE HMEAE IS
35,000 « 1A « 12€ 420
oot A& ZEH KXY
30,0008 = 200& 6,000
305 HHAZ2S 500 500 0
01 & 2SS 500 500 0
O0ISsI |7 SXEHANZSZ2H ANHIEE2
100,000& * 53] 500
401 AlEHIZL 2 0HY| 9,000 15,000 A 6,000
01 Al&H| 9,000 15,000 A 6,000
okL=: otd2s)I+ WA 3,000,000& = 3& 9,000
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A (2H)2R4Y
19,2752 * 5% x 20AI2t * 129 23,130
—optRR LY
25,7003 = 5F = 20AI2t = 128 30,840
-fY2e4g
19,2753 = 5% = 20A12t = 128 23,130
254 137,340& * 5H » 12& 8,241
-HAd=g 50,000& = 5% » 12& 3,000
-fIE=g 30,0003 = 53 » 123 1,800
OFEFItHI 1,373,4243 + 5% * 23| 13,735
O¢ItE &I 102,800& » 5% » 202 10,280
O&F MG Al 140,000& = 5H » 123 8,400
303 Ta2 4,000 0 4,000
02 8&03 4,000 0 4,000
O8NS 800,000& = 5% « 13| 4,000
R 90,810 67,911 22,899
JIE23l 90,810 67,911 22,899
201 LBH2E| 44,710 39,615 5,095
01 At 2t 2l 34,810 29,465 5,345
OJlege=dZl 450,000& * 254 11,250
OJI=Zdl (S&Hl)
8,000& * 259 x 7 » 12& 16,800
O&F=J Xz 40,0003 * 200 » 12& 960
O3RX(RIIHY) =l
8,000& = 5 110 4,400
O3RX(RIHY) 1=l 1,400
oxgs 90,000& = 5H 450
ogst=s 100,000& * 5% 500




2N
X ZH -
L= B

el

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2

Oot& 3t 60,000& = 59 300
O& st 15,000& = 594 75
o=g9 15,000& * 59 75

02 33249l 9,900 10, 150 A 250

OBRA(RI1H) AR =4I

500,000& * 59 2,500
oRE2 7,400
Okt 400 * 6,000 2,400
OsII 2,500& * 2,000 5,000

202 O B 31,200 23,136 8,064

01 2L Y] 28,800 20,736 8,064
OJ|IEZHI 20,000 » 244 * 52 * 12& 28,800

02 AN Y| 2,400 2,400 0
O&ANEE X} 200,000& » 14 = 12& 2,400

203 € R =&Y| 5,100 5,160 A B0

04 ENSIHRF=EY| 5,100 5,160 A 60
OJENH 5,100
03021 0|5t 400,000& = 12& 4,800
O30 =1t 5,000& * 5% = 12& 300

405 X+HaHF SHI 9,800 0 9,800

01 ML =FFH 9,800 0 9,800
ogRg &) 2! 9,800
OARE2 22l XH) 500,000& = 1JH 500
OANR S AT} 300,000& = 314 9,300
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2N
X ZH -
L= B

el

3

Ch
ot =5

ML Y 0
0T A o
02 02
40 o ry
Y
o K

S HB B (SH) - NRAMY - BAS O 4t o8 il 2t
ogst=s 100,000& = 6H 600
206 M = Hl 4,315 4,315 0
01 X2 Hl 4,315 4,315 0
o2g&dil=s EANE JIAM 4,315
oolng <X B2 E &
4,000& * 2002 4l 800
ots& J4 7,000 = 1004 700
OLuH 20,000& * 54 100
O S=SHMHI SH(TH) 175,000& = 34 525
O L2 HAHI (=) 50,000& = 404 200
O LE=SHAHI SH(A) 25,000 * 54 125
o338 0t 300& = 1,000H 300
o2z 3,000& = 1004 300
o% 22,000& * 104 220
O&ESII(E3H) 13,200 * 504 660
OAEIHAMAH 7,700& * 500H 385
307 QI2t0| & 36,000 35,000 1,000
05 It E = 36,000 35,000 1,000
O=SYHZINE L HH S 36,000, 000& 36,000
SHEEAN L CAEIS HU| 7,878 8,037 A 159
201 Bt A H| 6,328 6,487 A 159
01 AP 2t2l bl 6,328 6,487 A 159
OLAMAIE HIIx=Z
54,000 * 4m x 33| 648
OLMAEIXN=E EAHEH 2XE 900
O XA X+ 450,000& = 104 = 2« 900
Osg L&A L LAMEXZ 310 AEAHME
200& *~ 60004 120
O=sgHL&EA L LAMXZE 28 E2=2 ME
100 = 6000H 60
O¥BMEI BN SHC 2T Iyl
8,000& * 20 x 20¢ 3,200
OctBE I 2| 1,400
Oo=22= 90,000& = 5&H = 2= 900
ogst= 100,000& = 59 500
206 M = Hl 1,550 1,550 0
01 X2 Hl 1,550 1,550 0
CEM Y LANIE HUE AQE 1,550
ool N2YIE pEY
4,000 * 2002 Al 800
od&s 5,000& = 107H 50
Ol 1,000& = 1004 100




A HAD ASY
M A= AN
Cel: SHH N o EEERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| | | EFEEY] 15,0002 * 407K 600
HYSAPH (AR HS ) 81,548 85,177 3,629
=2yl 81,548 85,177 13,629
Jl= 2l 81,548 85,177 13,629
201 LBt2 Y 35,348 35,857 A509
01 A2 22l 27,324 28,073 AT49
OJ=2ARLBMAH  450,0008 * 24 * 97% 10,476
OJI=ZHI (S &Hl)
8,000 * 243 * 7Y x 128 16,128
OFLI| AxtE 60,0002 * 122 720
02 2229 8,024 7,784 240
oREaz 6,960
ot 40020 * 200€ * 128 960
Os7l 2,500 * 2005 * 12% 6,000
OHHARFH KX 1,064
OFIE=>] 2,300,0008 * 1CH * 8% 184
O K= AL 5,500,0008 * 2CH * 8% 880
202 OfHl 42,000 45,120 A~3,120
01 ZUod b 15,600 18,720 3,120
OJIE2 | 20,0008 * 133 * 52 « 12% 15,600
02 2 201t 26,400 26,400 0
O&ANZEHR 200,0008 * 118 = 128 26,400
203 A2 F &Y 4,200 4,200 0
04 BASHADRE Y| 4,200 4,200 0
© DI 2 %4 (252101 5t) 350,000 * 12 4,200




